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JHilcari &l ﬁéa / Instructions to the Candidates:

1.

TS UY & I 1 30 1 DI 2 100 ST usit o1 Ty fban S Tehell & | STHIST & Uy
3ffard & §1 The mark against each question is 1 mark. Any 100 multiple choice questions
may be attempted. Questions on Official Language are not compulsory.

. DU U M YT DI 37 UgaH, T UF I1 SR U3 B, 3R U9 & Ul J§ WR U ¢ »iew

DI BISHR 9 [efd | Please do not write Your Name or any other identity in the Question Paper
or in the Answer Paper except in the columns provided on the first page of the Answer Sheet.

MY Usil & IWR H, fasdlt ot vpR & i, sfavwrsfe, 3 o et o ueR & uRadH
311fc; BT SFFAFT T 81 GUR/SNaRISET a1 IR & oIy Y 8ieh AU S| In Answer to the

Objective Questions, no corrections of any type like Cutting, Overwriting, Erasing or
Alteration of any type in the Answer etc or not permitted. Zero marks will be given for the
answers having Corrections / Overwriting.

e 1 Ul BT IR dHaet YL T2 IR YfTepT H 3T ARTI Candidates should Answer

the Questions only in the Answer Book supplied.

SAHeIc 3R AN T S IUANT B A T & | Fuar wen F SR wen i § o Aaga
B 30 Y T 3% | Use of Calculator and Log table is not permitted. Please do not carry your
Mobile Phone with you in the Examination Hall during the Examination.

T IR & [T THRIED 3+ 1| There will be Negative marking for the Wrong Answers.

ooy o v v 2 e R 1 ke vt oy Ry 3w &, spora oo 2 i aieh)

@RI AY & B Question Paper is set in Bilingual form. In case of any discrepancies in
Hindi, please refer to English and the English Version stays Valid.



10.

1.

. [»9 e d ss &1 3nfasmR fasar /T 412 In which country was 5S invented?

a) HRd b) SITIH o) At d) fouaamy
a) India b) Japan ¢) Norway d) Vietnam

fraferfaa & @ @9 53 U5 &% TRl § § Th 981 82 Which of the following is NOT one of the

steps of the 5S method?
RIIES b) TRCTZ c) e d) AT

a) Shine b) Specialise ¢) sort d) sustain

wﬁimﬁ 58 YU &1 3= FT8? What is the purpose of the 5S system in the workplace?
a) G189 b) WAl ¢) G&fdT d) gt
a) Organization b) cleanliness c) efficiency d) all

9 319 g, Rasfeal, weif 3nfe o) T $vd € f 314 58 P {59 TR0 7 81 82 Which

phase of 58 are you in when you clean machines, windows, floors, etc.
2) PHIG b) TP ) FIHIE d) §TE

a) Sort b) shine ¢) set in order d) sustain

ol TR U B vad H Aufedn gid! (ST, stsudud) & ot &id ¢ o o orid dead
21 Permissible variations in wheel tread diameter for four-wheeled trolley (ICF , BEML) on
the same axle on BG is.

a)0.45 mm b) 0.50 mm ¢) 0.60 mm d) 0.48 m

Q@Eblﬁﬁ CAREN ] A % - The axle load of AC coaches is —
a)22.0 tons b) 16.25 tons ¢) 15.0 tons d) 14.50 ton

Hraiiea i & oy SIS Euw Aiiers & &1 i 210 339 s 3-Min shop issue size of ICF
solid wheel for POH Coach is—
a) 837 mm b) 870 mm c) 854 mm d) 8746 mm

S oA g HSR (T3R) DI TS - Capacity of Air Reservoir (AR) of the ICF

coach is

a)150 Lit. b) 200 Lit ¢) 250 Lit. d) 300 Lit

E':f PIER] Rrend Nﬁw CAEREACNE U] GG ﬁQ M %"- How many angle cocks (COAC)

are provided in ICF Coach in twin pipe system-

a)2 b) 3 c)4 d)6

ETI g3y Red & AR URR H1 91T - In twin pipe system, the AR pressure should be —
a) 1.5Kg/em?2 b) 3.5 Kg/cm?2 ¢)5.0 Kg/cm?2 d) 6.0 Kg/cm2

Mﬁ?ﬂmﬁ Hg HFw et m fosat @?ﬁ %? What is the thickness of roof sheet in ICF

coach?



12.

14.

15.

a)2 mm b) 1.5 mm ¢) 1.§ mm d) 1.6 mm

TG Fie H 3ifdad s RIfeY UTR 8. Maximum brake cylinder pressure in ICF Coach

is
a)l.5 Kg/cm?2 b) 2.5 Kg/cm?2 ¢) 3.8 Kg/cm?2 d) 5.0 Kg/cm?2

13. T - 3 oOR werwme! o | d 99U § Total no of berths in AC - 3 tier LHB Coach is —

a)64 b) 68 c)72 d) 56

KIERsj oty HIg b T IR Ja=H @’cﬂ% Sole bar of ICF coach consists of

a) Z section b) I section ¢) Y section d) U section

ICF SR T T frg YR & b sciic o1 SUTIT {3a1 STTa 82 What types of brake block

are used in ICF coaching stock?
a)’L’ type b) ‘K’ type c) ‘CI’ type d) All type

16. ST T IqH A TR FT1 8 ? What is the minimum oil level in dashpot?

a) 50.0 mm b) 40.0 mm ¢) 75.0 mm d) 90.0 mm

17. TP U SR & U Tael sie # e O H T 4R1 ST 87 What quantity of grease

18.

19.

20.

21.

22.

filled per axle box of SKF make bearing?
a)l.75 kg b) 2.00 kg c)2.25kg d)2.5kg

ICF st & H o YR T ek SR o Sre 22 What type of roller bearing is fitted in

ICF bogie wheel?

2) T Ufd W-IRGd MR AR 3R b) S Uk WG MATDR AR SRR

¢) T d Ui W-ERIW FeHIPR AR AR d) S et - IR DR AT 3R

a) Single row self-align spherical roller bearing. b) Double row self-align Spherical roller
bearing. c) Single row self-align Cylindrical roller bearing. d) Double row self-align
cylindrical roller bearing

Aafife & § $4 o & TRed b T IS § 2 Which of the following are attended for
corrosion repair 7

a) 91 §R b) B8 WId ¢) TH TR d) SRIaq gt

a) Sole bar b) Head stock ¢ ) Trough floor d) All of the above
 f8i R B 11 udieror fan ST § 2 Which test is done on springs?

a) S b) Sl o) e IR d) IS T8I

a) DPT b) Zyglo ¢) Magna flux d) none of these
FAAAS ‘gwiim:r gId1 8- In coach, the load transmission takes place through-

a) Y3 foge b) S ¢) T3S fooR d) I

a) Center pivotb) Bogie ¢) Side bearer d) Wheel

THIRUL Y 3170 7 FHId &2 What do you mean by FRP?

2) TSR STETaeT O7d b) BIEeR TSR Wi o) Ugel B Wiiedd) i vaferd faam



23.

a) Fibre Recycling Panel b) Fibre Reinforced Plastic ¢) First Reduction Plastic d) Fine
Reinforced Plane

quad! wieron # forg S &1 yar ger 87 What defect is detected in UST test?
a) 3TART R b) T8 &R ¢) g T8 XN d) 379 I B T

a) Internal cracks b) External cracks  ¢) Air flow cracks d) None of the these

24 XA TR I TER & &% qP 3B dq S R 397 § -The maximum standard buffer height

25.

26.

27.

28.

29.

30.

31.

32.

33.

above rail level to center of buffer is —
a) 1085 mm b) 1100 mm ¢) 1105 mm d) 1030 mm

ToUEe! i § farg TR & 9giar o) BId 87 LHB coaches are provided with what type of
bearing?

a) TITTHR TR b) HTaT 3R ¢) Hictemelt d) BI 7T8!
a) Spherical type b) Plain bearing c) CTRB d) None of these

75 & 2 59 A 3 e A am ITAT 82 Which of the following quantity measured in
kelvin?

a) TTS b) SEEME ¢) A9 d) B gt
a) length b) mass ¢) temperature d) None of these

| fébee fbam e 82 1 Quintal is how many kgs?

a) 1000 kgs b) 100kgs c) 10 kgs d) 500 kgs

9T 1 §eTS T 82 What is the unit of velocity?
a) m/s b) m/s? c) m%/s? d) m/s3

ICRIR k] % PR & IR A fear man g Bearings are named according to the shape
of

a) 3R ar b) IR TS ¢) R d) fFR
a) Inner race b) Outer Race ¢) Roller d) Cage

. NI TS ot # 40 fordt e & ufy Sxrofe 30 o wEm @ 82 What is the amount of

oil per dashpot in 40-mm depth in modified guide arrangement?
a) 1.6 litre b) 2.5 litre c) 2.2 litrer d) 1.9 litre

TS ATTE i A ula vt 3% Rycfex & S G=AT - Total number of brake cylinders per
bogie In ICF Coach is .
a)8 b) 6 c)2 d)4

EEAR YR ﬁ@a%ﬁ%ﬁ#ﬁ@ﬁaﬂaﬁﬁaﬁnﬁaﬁﬁ?ﬁaﬁ%ﬁm
o3 UG {01 ST 82 What mechanism is provided to control the speed of the coach by
transferring the braking force from brake cylinder to the wheel tread?

a) 5 R b) QIS ¢) TR i d) 5% Rydex
a) Brake rigging b) Push rod ¢) Anchor link d) Brake cylinder

SITTH 3R THUASHR &1e 3 RicisR W &7 cfars mm. GS & SLR coaches brake

cylinder has stroke length of mm



a)40mm b)32mm ¢)53mm d)95mm

34. o1 o & I 9% R SR &) HAfacT foies & 3rTad 3 ¢ B RiHiaid fbar i

"35.

2. 68 .The diameter below which the brake gear connection is shifted to next inner
hole of the connecting link is

a)890mm b)864mm ¢)850mm d)839mm

S UH o O J 5 Ryelex &7 3aR . In BMBC the size of brake cylinder is .
2)203 mm b)215 mm ¢)210 mm d)212 mm

36. ST AICS Al fsal o fohd R o TG S8 o SUUNT T ST § 2Which type of dirt

37.

38.

39.

40.

41.

42.

43.

44.

collectors are used in Bogie mounted passenger coaches
a) s R b) QRIS c) TR i d) 5% Ricfer
a) Centrifugal b) Reciprocating ¢) Linear d) None

T AR o SRTSR 81 § | One Litre equals to _
a).1000 cm? b) 100 cm® ¢) 10 cm? d)500 cm?

T BT UG U/ §. The lowest prime number is

a) 1 b) 2 c) 3 d) 5
Higel Yo Yaoh oo Aafeid o - I¥  $H I & §, I8 I13CS HIR AT &l o el ©
Woman railway servant having minor children below the age of------ years may be granted
Child Care Leave

a) 1 Year b) 5 Years ¢) 16 Years d) 18 Years.

W& 3i. & fpan e Yard UG &1 SR} a1 Tam How many sets of P.T.O. issued to the

Railway employees?

a) 6 sets both for Gazetted and Non-Gazetted every year from the date of appointment
b) 4 sets both for Gazetted and Non-Gazetted every year from the date of appointment
¢) 3 sets both for Gazetted and Non Gazetted every year from the date of appointment.
d) 6 sets for Gazetted and 4 sets for Non-Gazetted

HHART I Jal Sitaq # b & & g vagaud S fosan o 9ear 82 How many days of

LHAP can be accumulated by an employee in his service life?
a) 300 days b) 400 days ¢) Unlimited d) 150 days

U d & HHAIRG & o ugd 5 gt ot a1 & fory Difees ura & e S Suers €1 For

Group C employees how many set of Privillege pass is available for first 5 years of service.

a) 1 b) 2 c)3 d) 4

YT T & 3T P ARG F oo fal ot 3afd & iR < o =1fRW . Appeal should
be given within a period of «=~--em-emmun days from date of order of punishment

a) 10 Days b) 15 Days ¢) 30 Days d) 45 Days

TATT S AT $I T 15t &t A9 91 82 What is the condemning limit of LHB wheel

diameter?
a) 825 b) 837 c) 845 mm d) 906



45, TATT! Bid & Th Axle R fhd 5 & g 82 How many brake disc available on one
Axle of LHB Coach?
a) 1 b) 2 c)3 d) 4

46. TAUTST YHR o Sl H foba sis Ryeiex &1 IuaiivT 3531 ST € 1 How many brake cylinders

are available in LHB coach.
a)l b) 2 c)4 d) 8

47. i 0 &1 RIgid A . The principle of ‘Interchangeability’ is normally employed for
2) 8 UHIM TR I b) FHM R BT IeTEH c) 3MebR b1 Fufia Far % ez um o) @l

a) Mass production  b) Production of identical parts ¢) Parts within the prescribed
limits of sizes d) All of these.

48. UF ARHH fArefiHieR & SRR B 81 One micron is equal to Millimetre.
a)l/10 b) 1/50 c) 1/100 d) 1/1000

49. WET dd BTG . & forT fa1 ST ® Lubrication oil used for........
2) U0 HH B b) T8I HH P o PTAB o) g

a) Minimise friction  b)Reduce Wear c¢) Eliminate Heat d) All.

50. TIg I ST AH F AbT o Ybell @ Rusting of iron can be prevented by:
a) Ufr b) Siigfem o) TR d) gt
a) Painting b) Oiling ¢) Greasing d) All

51. §U®E qui Y DFT Full form

(a) Dry Film Thickness b) Double Film Thickness c¢) Dye Film Thickness d) None

52. Sﬂg?ﬂ'qtb' I ﬁa?fwmwuﬁw %I Present colour scheme of ICF coaches
are

2) ATFPIS & R VAR, b) FHEIYS ) i el 1 = 31 0) FIE )
a) Oxford blue and Satin Blue b) Crimson Red ¢) Apricot Yellow & Blood Red. d) None

53. forsTell & YU IUT A & fory qad YRigrd W) 8: The safest ladder to use around

electricity is:

a) ©id b) TYHTH ¢) SRRA d) Th el
a)Steel b) Aluminium ¢) Iron d) Wood
54. %EEFIF{ A - & 3{eR UM BT Ot § Destruction tube is provided inside the .
a) e b) &b HUlHT ¢) WP HIR d) T3S IH
a) CBC b) Screw Coupling  ¢) Shaku Coupler  d) Side buffer

55. UTEe] ®idl § Gid T3S WeaR fEasy ol g ¢ aife 38 &1 AT o G | LHB
coaches are fitted with Wheel slide protection device to prevent

o) prsgRdulgwr bv)Iafepe ¢) 3% RdisR fawedr d) ®'5 gl
a) wheel from getting skid ~ b) Rails Skid c) Brake Cylinder Failure d) None



56.

57.

58.

59.

60.

61.

62.

63.

64.

WW@WWﬁWW%WﬂWWW%W LHB coaches are
fitted with Brake accelerator in the Brake pipe to bring

a) WWW%WEWW@@b)W%W%@WM
W@@c)WWW%@WWW@@@WW TPTAA SP
3 & G LA

a) AR pressure to zero during emergency brake application b) BC pressure to Zero during
emergency brake application ¢) BP pressure to Zeto during emergency brake application

d) FP pressure to Zero during emergency brake application

Taaa! Gack:| A 7S . LHB coaches are provided with

a) ICF Bogies b) CASNUB Bogies ¢) FIAT bogies d) Hybrid
Bogies.

uﬁa’fﬁmwﬁmmﬁ%ﬁmmmuﬁ%ﬁﬁwmﬁ T EId
%Gﬁiﬂ?ﬁmﬂ WWWW@RWW@WW@%I DEMU coaches are
fitted with in the secondary suspension to maintain a constant buffer height
irrespective of loaded condition to give comfortable riding to the passengers.

a) DI (BT p) TR & o) TR B d) <t B

a) Coil Springs b) Air Springs ¢) Snubber Springs d) Leaf
Springs

98 = 1 % ST 20% 10 %? What is the number whose 20% is 10?7
a) 30, b) 40, )50, d)70

Eﬁ@?ﬁaﬂ@f%mﬂrﬂﬁ,ﬁ?@ 105%965%@?@1%871ﬁaaﬁ@mﬁ|
REEKCA fpa @@ &2 Shekhar travelled 260Km 54m by bus, 105km 965m by car and the
restlkm 87m he walked. How much distance did he travel in all?

a) 133km 106m, b) 131km 106m, ¢) 133km 86m d) 132km 76m.

350%@?250%@@@@@@%13@%%@&“@: 35 T i H 3R 50
Wqﬁﬂ%aﬂﬁﬁﬁﬁgl aWWﬁW@GﬁWﬁ? Two Trains 350m and
250m long are running on a parallel lines in the same direction with speeds 35Kmph and
50kmph respectively. In what time will they pass each other?

a) 144 secs b) 140 secs c) 134 secs d) 154 secs

aﬂ'@mﬁmmz%nmﬁmw%% it @1 A & 2 The difference of tWo.
number is 2. The difference their squares is 28. What is the sum of numbers?
a) 16, b) 14 c) 12 d) 10

I P MAF B Cal U?f SE-eraadc T DI Ugd™ 22 Green band on exterior
below toilet glass is the identificationof Coach?

2) SFRA B b) TR B o) SRl efadie B d) TR 5% &1

a) General Coach b) Sleeper Coach ¢) Bio-Toilet Coach d) Air Brake Coach

TauEs A a@@aﬁ%ﬂmmmm%l CBC used in LHB Coaches is

a) E-Type b) F -Type c) H type d) All




65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

TaugE pig o UG &1 Tg el & fawar % The feature of CBC provided in LHB coach is
ERRIEHE] b) G2t 2T, ¢) T ifthy REE I

a) Anti Climbing. b) Anti Rotation, ¢) Anti Creeping d) Anti Breaking.

ISHTH Gt i arf A5 A WS, Side frame thickness of ICF AC coach bogie is .
a)l6mm b)12mm ¢)10mm d)15mm

3feeReR 3R TG IR 5 YR BT I BT ITINT b1 ST & 2 Which type of belt is

used in alternator and pulley arrangement?
a)U belt b) V belt c)Flat belt d)All Type

forerds 5/ iy Tolelt & T8 dew 2 Thieid (TIEIUIR) B Rl 2. Under whom/ which
agency Neutral Train Examiner(NTXR) works

a) PCME b)CRS ¢) IRCA d) IRCTC
e 841 B1 dT fhar wirar %, ar UDPTYTd When air is cooled, its density

a) 9gAT e b) Uedl ® DEREGE C HTTHIDE S

a) increases b) decreases C) remains same d) None of these

WIGRIT FT] 2 WHAT IS SMOTHERING ?
a) YT B T b) MAHBIHN o) auAR BT ) B TR

a) Limitation of fuel b) Limitation of oxygen ¢) Limitation of temp d) None

AT 7e 3 Sala & Ergonomics is related to human ......?

a) 3IRTH b) GR&T o) TR o d) 379 ¥ P13 T
a)Comfort b) Safety c)botha & b d)none of these

37dier FST SR It B BT ARG & oo fot 1 arafd & feR o =R Appeal
should be given within a period of -------e-mmev days from date of receipt of punishment order
a) 10 days b) 30 days c) 45 days d) 60 day

AT St BT el 99 &. Wheel base of LHB bogie is

a) ICF P & RER,  b) ICF 4 HT o) ICF 9§ 31fi d) 375 9 1S T
a)equal to ICF coach, b) less than ICF c¢) more than ICF d) none of these

oo Reew o 917 Uy Riew &7 Swi fohar STaT 8 9w By pass system is used in brake system
when —

a) il T U ¢ b) TUT UT3Y geT g3 OSBRI T o) ITH IS 2 f
a) B C pipe broken  b)F.P Pipe broken ¢)B P pipe broken  d)Any of these

Qa1 Y Fafiya S $IR R & Fififa e o wovar 2, 991 9 GG 2: The scale can be

manufactured in different sizes and scales, the scale is available in:
a) 150 mm and 30 mm lengths b) 600 mm and 1000 mm lengths ¢) All of these d) None of
these



76.

71.

78.

79.

80.

81.

82

83.

84.

&5

fafeiaa § § o1 1t «1g IR & dUHEH TR R @GR H WG € Which one of the following

metals exists in liquid state at room temperature

a)Ag b) Cr c) Hg d) Br

Eﬁaﬂ@ TR AR &1 oy Urg ® Steel is mainly an alloy of iron and

a) chromium b) nickel ¢) manganese d) carbon

BT P SHIARD FI5S DI AR DI T 9 MBI Interior Side walls of the
coaches are painted with colours.

a) R b) e OAATE  d)adlc

a) Smoke grey b) white c¢) middle buff dyaorc
It IR dlS S¥FRd UR o SITd 9Hd, T H_A1ET . While carrying a

load downhill on a forklift, you should:

a) Fom1-om UeTet & T Rk b) 1 BT 3R FYRT A U BT S 1Y M &
¢) SR B! 3R IARTHIA GU BT & WY RaF ggad d) IWRad A A B g1
a) Zig-zag down the hill slowly b) Drive forward with the fork pointing downhill

¢) Drive in reverse with the fork pointing uphill ~ d) None of the above

SHFrTHe e & forT ST foban ST aTen Tférd Wee "PASS” &1 314 8: The acronym

“PASS” used for fire extinguisher operation stands for:

a) U 3, T3H, W1, Whe b) U, AT, b, Wa

o) T, e smeh, Fars), Wiu & d) @ra, =i amed, garsd, @rd
a) Pick up, Aim, Squeeze, Squirt b) Push, Alarm, Swirl, Sweep

¢) Pull, Aim, Squeeze, Sweep d) Pull, Aim, Swirl, Swat

3% YRR TR fSorell & e BT UHTT 39 WR 4R BT Fhdl § . The effects that an electrical
shock has on your body can depend on:

a) SYP! IAAT b) TTTaRo H Tt Bt IufRyf ¢) 3BT Ay d) gt

a) Its current  b) The presence of moisture in the environment  ¢) Its duration
d) All of these

. BCGa1d 3.8 + 0.1 Kg/em® ¥ 0.4 Kg/cm? T Rl 814 &1 9HY § Release time of BC pressure

from 3.8 = 0.1 Kg/cm? to 0.4 Kg/cm? is —

a) 3to 5 sec b) 5 to 10 sec ¢) 10 to 15 sec d) 15 to 20 sec
S fYefier & GRA, BC Y &al DA S During brake release, air from BC goesto -
a) AR b) CR ¢c) DV d) Atmosphere

feT U3y OTSR e o SWHTE 817 a7 UHY 1SR &1 §d W@ § . The total no. of MU washer

used in a twin pipe passenger coach is —
a)?2 b) 4 c)6 d) &

TR & Req d Tgad 1R ared HTHR 8. The function of non-return valve used in air

brake system is —

adfi B FAPA ST b) TR Y THY! I gaT & YaTe HI AP & g
¢) IR B IS B Y I & g d) TR T G I 81 & U8 Bl AP o [o1T



86.

87.

8.

&89.

90.

91.

92.

93.

94.

95.

96.

97

a) To reduce BP b) To prevent flow of air from AR to FP c) To prevent CR to be
charged d) To prevent flow of air from AR to BC

THHICISR BT yaT @A & fere v fasar Srar @
SCTR is used to detect

a) U0l H | b) Gde=AeT ¢) e 4 Tt

a) Leakage in Pipes. b) Sensitivity c) Insensitivity (d) All of these.

E'\l%'ﬁ @ A fpy Shop TR fardT ST 8 Trammelling of Trolley is carried on which shop
a) ATt ROTR iy b) TS T o) @I T d) TR 8% 2T
a) Bogie Repair Shop b) Yard Shop ¢) Wheel Shop d) Air Brake Shop

AT diE § fHg Sl &1 Iugh IERISIGI % .In LHB coaches which bogie is used
a) ICF b) FIAT ¢) Both d) None of these

TR (B &1 IugiT H{HAT SR, Snubber springs are used in
a) ICF b) FIAT ¢) CASNUB d) All of these

UG . A &1 TP UHR § The Lathe is a typeof..................... machine?
a) fgferm b) €f+iTe) A& d) Tt
a) Drilling  b) Turning  ¢) Threading d) All of these

Prevention i ----———-eemeem than cure
a) good b) best c) very good d) better

The pen is ----------- than sword
a) stronger  b) good ¢) weaker d) mightier

The Plural form of Man
a) Man b) woman ¢) Men d) Women

THUASH NMG is a
a) B b) 3T o) Gl d) 1S g

a) Coach b) Wagon ¢) Both d) None

IS FawT & S8R, Price 9 &7 3 Sfarfd 3182 According to Official Languages
Rules, Karnataka falls under which region?

a) &4 T EEK o) & d) &
a)Region ‘A’ b) Region B ¢) Region C d) Region D

B 1<l gt fau &a T SIell @2 When is “Hindi Day” celebrated every year?
a) 14 RdeR b) 14 AT c) 14 TgHR d) 14 fagaR|
A)l4th September  b) 14 th October c) 14™" November  d) 14™ December.

. &Y ST HraiaT- AT & sreqer i &



Who is the Chairman of the Zonal Official Language Implementation Committee?

a) HETIYD b) SIARTA o) TrgscguH &) IS 8!
a)General Manager b) DRM ¢) CWM d) None

98. %zﬁ,%a"rmsh?%a WW%WWWW@W@W% The various

incentives given for learning Hindi, Hindi Typing and Hindi Shorthand are as follows:

a) &G YRHR b) THHId TREOR o) afEITd de Rkl

a) Cash Award b) Lumpsum Award ¢) Personal Pay d) All

99. Mﬁf Dl QUYW Full form of PU paint
2) Tl gL (b) Tfet i o) Ue X d) de giar
a) Poly Urethane b) Poly Urea ¢) Paint Urethane d) Paint Urea

100. R SLEE I PRI CUERES EHTE P 2 The Riding Index of LHB
Coach is ICF Coach

a) P b) SRTER o) 3t d) DS e
a) Less Than b) Equal to ¢) More than d) None

101. gl RSt & ded faitg @1 T f3631 ST & Hubballi Workshops under takes
the POH work of

2) S SR AR B b) TeEs! B o) Sfeae I o) T
a) DEMU and MEMU Coaches b) LHB Coaches ¢) BOBSN Wagons d) All of These

102. ERIEURIGIEIE] TS TE § The Administrative Head of Hubballi
Workshops is

a) TETIEYD p) ifiems o) SIRTHA q) SresyuA
a) General Manager b) PCME ¢) DRM d) CWM

103. iUt e B TIfd &l The speed potential of ICF Coach
a) 90 KMPH b) 100KMPH ¢) 110 KMPH d) 140KMPH

104. TW F I AR HQ of SWR is at
a) gEAI b) AR ¢) SIS d) SIS BIA!

a) Hubballi. b) Mysore ¢) Bengaluru  d) Bengaluru Cantonment -



getaradferd Write True or False

105. mﬁ@%ﬁﬁ@ﬁﬁmﬁmﬁ%mﬁaﬁ% Rubber Stamps are to be

prepared Hindi & English — Bilingual Form a) True b) False
106. & ¥ v o 1 IR farelt oft W # @ ST =@ Wl The letter received in Hindi
should be replied In any language. a) True b) False

107. T SR (Taferd S, JHde =T, F1UH, URu 311fE) Fad sil 7 SR fby
SIE| % The General Orders (Office Orders, Allotment orders, Memorandum, Circular etc.) are
to be issued English only a) True b) False

108. R I 3R HEr 3 fbars Rrem & g i S Il R R &1 A Al TR
T YRIP R 8 Mythili Sharan Gupta Puraskar is the name of the award given for writing
Hindi Novel & Story books? a) True b) False

109. gy T3 Sy R afafa (@fafa) & sree € Prime Minister is the Chairman of
Central Hindi Samiti (Committee) a) True b) False

110. %W%WW%@W%MW %IWMI Four Hindi courses are

prescribed for Central Govt. employees. a) True b) False



